=5 :
E % % -+ (4 —% - S EATH)
o - ] T R
(F313 -7 ®1) | @ s @ B 5
5 + 9% ] T "1:'.1:,' ‘
(7 2] —i?—— fWz).| ® 7 @ T 5
. . N . fj”llf.u
(73 3) 10+47/6 sy | 6 -5
4] : 5 .
(7 | (1) 1
5] | x= 9 Ly= 2 1T :
Mol | = ¥ M2 |©| (& 9
— 3+ /13 ,
(6 ; ;
4 AABPLEAACQIZENT
(7] &l |1 & R 4 L EENB, AABCEAABDEE BT
. : ‘ EZABENL, o
' R 5 AB=AC B 6D
| B8Y | 3] | LABP=/LACQ e (2)
B ) 1 HEMNE, £PAQ=60°
ZBAP=/LPAQ—ZBAQ
9l =60° ~ZBAQ
: AABCREZAREMND LBAC=60°

lmy | BE

(i2) | (GE )

X, Y&, ThEha, b, c AV EAT

S

X=100a4+105+c¢
= ,C‘_ b+ a
LB,
L o7,
X=Y :
=(100a +10b6+c)—(c— b+ a)
=994+115b
. =11{9a+b)
9a+b HEHTHZ NG, 11(9a+5)
IO EHTH D, o
Lo T,

X-YOEX 1L ofFKichs,

LCAQ=/4LBAC—-—ZBAQ "
=60° —ZBAQ

LT, .
ZBAP=ZCAQ i (3)
(D, @, G kv, LHEODEZoHE

DABERERE LSS,

AABP=AACQ

i 2
%" ______________________________
= 2
= S
< 7
o+
my TR = 7
5 2
L 1
me) |CFE| ¥ 1
aca 2

x[3]m1) 2T (E®) T, A5,
>:<.[|5{52] £T TEE) T, A%5% 5,




